

Certificate of Conformity

NO.: ED181019019L

The following product has been tested by us with the listed standards and found in conformity with the council LVD directive 2014/35/EU. It is possible to use CE marking to demonstrate the conformity with this LVD Directive.

Applicant : Zhuhai Taurus Technologies Co., Ltd

Address : A-9 2nd Floor Research Building No.613 Huawei Road
Qianshan Industrial Park Xiangzhou District Zhuhai City China

Manufacturer : Zhongshan Taurus Technologies Co., Ltd

Address : No.37 Zhenxiang 2nd street Tanzhou Town Zhongshan City
China

EUT : LED power supply

Trade Mark : 

M/N : See below model list

Technical Data : Input: 200-240Vac; 50/60Hz, Max.3.85A;
Constant voltage; Class I; built-in; SELV; tc=85°C;
More detail see below model list

Test Standards : EN 61347-1:2015, EN 61347-2-13:2014+A1:2017




(Manager) ESTING
November 16, 2018

The certificate is based on a single evaluation of one sample of above-mentioned products. It does not imply an assessment of the whole production and does not permit the use of the test lab. logo.

Certificate of Conformity

NO.: ED181019019L

Model list						
Model No.	Rate input	Output Voltage (V dc)	Output current (A)	Output Power (W)	tc (°C)	Output SELV circuit
VD-12015D0954	200-240Vac 50/60Hz,0.35A	12	1.25	15	85	SELV
VD-24015D0954		24	0.625	15		SELV
VD-12020D0960	200-240Vac 50/60Hz,0.42A	12	1.67	20		SELV
VD-24020D0960		24	0.834	20		SELV
VA-12030D0952	200-240Vac 50/60Hz,0.40A	12	2.50	30		SELV
VA-24030D0952		24	1.25	30		SELV
VA-12040D0920	200-240Vac 50/60Hz,0.55A	12	3.34	40		SELV
VA-24040D0920		24	1.67	40		SELV
VA-12045D0920	200-240Vac 50/60Hz,0.60A	12	3.75	45		SELV
VA-24045D0920		24	1.87	45		SELV
VA-12060D006	200-240Vac 50/60Hz,0.78A	12	5.00	60		SELV
VA-24060D006		24	2.50	60		SELV
VA-12060D091		12	5.00	60		SELV
VA-24060D091		24	2.50	60		SELV



(Manager)

November 16, 2018

The certificate is based on a single evaluation of one sample of above-mentioned products. It does not imply an assessment of the whole production and does not permit the use of the test lab. logo.

Certificate of Conformity

NO.: ED181019019L

Model list						
Model No.	Rate input	Output Voltage (V dc)	Output current (A)	Output Power (W)	tc (°C)	Output SELV circuit
VA-12080D0891	200-240Vac 50/60Hz,1.05A	12	6.67	80	85	SELV
VA-24080D0891		24	3.34	80		SELV
VA-12100D0242	200-240Vac 50/60Hz,1.35A	12	8.34	100		SELV
VA-24100D0242		24	4.17	100		SELV
VA-12100D0923		12	8.34	100		SELV
VA-24100D0923		24	4.17	100		SELV
VA-12150D024	200-240Vac 50/60Hz,1.85A	12	12.50	150		SELV
VA-24150D024		24	6.25	150		SELV
VA-12200D0710	200-240Vac 50/60Hz,2.60A	12	16.67	200		SELV
VA-24200D0710		24	8.34	200		SELV
VA-12300D1330	200-240Vac 50/60Hz,3.85A	12	25.00	300		SELV
VA-24300D1330		24	12.50	300		SELV



(Manager)

November 16, 2018

The certificate is based on a single evaluation of one sample of above-mentioned products. It does not imply an assessment of the whole production and does not permit the use of the test lab. logo.

Certificate of Conformity

NO.: ED181019019L

Model list						
Model No.	Rate input	Output Voltage (V dc)	Output current (A)	Output Power (W)	tc (°C)	Output SELV circuit
SVG-12060D1641	200-240Vac 50/60Hz,0.77A	12	5.00	60	85	SELV
SVG-24060D1641		24	2.50	60		SELV
SVG-12120D1640	200-240Vac 50/60Hz,1.51A	12	10.00	120		SELV
SVG-24120D1640		24	5.00	120		SELV
SVG-12150D1650	200-240Vac 50/60Hz,1.90A	12	12.50	150		SELV
SVG-24150D1650		24	6.25	150		SELV
SVG-12200D1653	200-240Vac 50/60Hz,2.50A	12	16.70	200		SELV
SVG-12100D1640	200-240Vac 50/60Hz,1.26A	12	8.34	100		SELV
SVG-24100D1640		24	4.17	100		SELV
VA-12030D092	200-240Vac 50/60Hz,0.40A	12	2.50	30		SELV
VA-24030D092		24	1.25	30		SELV
VD-12005D0964	200-240Vac 50/60Hz,0.08A	12	0.417	5		SELV



EMTEK (DONGGUAN) CO.,LTD.
 (Manager) TESTING

November 16, 2018

The certificate is based on a single evaluation of one sample of above-mentioned products. It does not imply an assessment of the whole production and does not permit the use of the test lab. logo.

Certificate of Conformity

NO.: ED181019019L

Model list						
Model No.	Rate input	Output Voltage (V dc)	Output current (A)	Output Power (W)	tc (°C)	Output SELV circuit
VD-12010D0963	200-240Vac 50/60Hz,0.14A	12	0.834	10	85	SELV
VD-24010D0963		24	0.417	10		SELV
VA-12100D1680	200-240Vac 50/60Hz,1.40A	12	8.34A	100		SELV
VA-24100D1680		24	4.17A	100		SELV
VA-12150D1691	200-240Vac 50/60Hz,2.10A	12	12.5A	150		SELV
VA-24150D1691		24	6.25A	150		SELV
VA-12200D1690	200-240Vac 50/60Hz,2.80A	12	16.7A	200		SELV
VA-24200D1690		24	8.34A	200		SELV



(Manager)

November 16, 2018

The certificate is based on a single evaluation of one sample of above-mentioned products. It does not imply an assessment of the whole production and does not permit the use of the test lab. logo.